
NAME:___________________________	 	 Math	________	,	Period	____________	

Mr.	Rogove	 	 Date:__________	

G8M4L24:	Solving	Systems	of	Equations	by	Substitution	1	

Independent Practice: (solutions) 
𝑦 = 3𝑥 − 5
𝑦 = 6𝑥 + 8	

	
	
Eqn	#1:	−18 = 3 − !"
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Eqn	#2:		−18 = 6 − !"
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𝑦 = −3𝑥 + 1
−2𝑦 = 5𝑥 + 2	

	
	
Eqn	#1:		−11 = −3 4 + 1		
	
																	−11 = −12+ 1	
	
																	−11 = −11	
	
	
Eqn	#2:	−2 −11 = 5 4 + 2 	
	
																													22 = 20+ 2 	
	
																													22 = 22	
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𝑥 = 4𝑦 + 9
3𝑥 = 2𝑦 − 17	
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Eqn	#2:	3 − !"
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𝑦 = −6𝑥 + 32
3𝑥 − 5𝑦 = 30 	

	
Eqn	#1:	 − !"
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Eqn	#2:	3 !"#
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𝑦 =
3
2
𝑥 − 1

3𝑦 = 𝑥 + 2
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Eqn	#2:	3 !

!
= !"

!
+ 2	

	
																						!!

!
= !"

!
+ !"

!
	

	
																						!!

!
= !"

!
	

	
10
7 ,

8
7 	

	
	
	
	
	
	
	
	

7𝑥 − 8𝑦 = 112
𝑦 = −2𝑥 + 9 	

	
Eqn	#1:	7 8 − 8 −7 = 112 	
	
																											56+ 56 = 112 	
	
																																			112 = 112	
	
Eqn	#2:	−7 = −2 8 + 9	
	
																−7 = −16+ 9	
	
																−7 = −7	
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